

Maximally monotone operators with ranges whose closures are not convex and an answer to a recent question by Stephen Simons

Heinz H. Bauschke*, Walaa M. Moursi† and Xianfu Wang‡

September 6, 2019

Abstract

In his recent *Proceedings of the AMS* paper “Gossez’s skew linear map and its pathological maximally monotone multifunctions”, Stephen Simons proved that the closure of the range of the sum of the Gossez operator and a multiple of the duality map is not convex whenever the scalar is between 0 and 4. The problem of the convexity of that range when the scalar is equal to 4 was explicitly stated. In this paper, we answer this question in the negative for any scalar greater than or equal to 4. We derive this result from an abstract framework that allows us to also obtain a corresponding result for the Fitzpatrick-Phelps integral operator.

2010 Mathematics Subject Classification: Primary 47H05, Secondary 46B20, 47A05

Keywords: Duality map, Fitzpatrick-Phelps operator, Gossez operator, maximally monotone operator, range, skew operator

1 Introduction

Throughout, we assume that

$$X \text{ is a real Banach space with dual pairing } \langle \cdot, \cdot \rangle : X \times X^* \rightarrow \mathbb{R}, \quad (1)$$

where X^* is the dual space of X . The *duality mapping* J of X is the subdifferential operator of the function $\frac{1}{2} \|\cdot\|^2 : X \rightarrow \mathbb{R}$; it satisfies

$$(\forall (x, x^*) \in X \times X^*) \quad x^* \in Jx \Leftrightarrow \langle x, x^* \rangle = \|x\|^2 = \|x^*\|^2. \quad (2)$$

*Mathematics, University of British Columbia, Kelowna, B.C. V1V 1V7, Canada. E-mail: heinz.bauschke@ubc.ca.

†Department of Electrical Engineering, Stanford University, 350 Serra Mall, Stanford, CA 94305, USA. E-mail: wmoursi@stanford.edu.

‡Mathematics, University of British Columbia, Kelowna, B.C. V1V 1V7, Canada. E-mail: shawn.wang@ubc.ca.

Now let $A: X \rightarrow X^*$ be a bounded linear monotone operator, i.e., $(\forall x \in X)(\forall y \in X) \langle x - y, Ax - Ay \rangle \geq 0$. Then both A and J are maximally monotone, and so is their sum $A + J$ thanks to a result by Heisler (see, e.g., [8, Theorem 40.4]). If X is a Hilbert space, then $J = \text{Id}$ and it is well known that the range $\text{ran}(A + \lambda J)$ is equal to X . In striking contrast, it was shown very recently by Simons that for the so-called Gossez operator G which acts on ℓ_1 , we have that $\overline{\text{ran}}(G + \lambda J)$ is *not convex* for $0 < \lambda < 4$ (see Section 4 below.) It is also known that for the so-called Fitzpatrick-Phelps operator F , which acts on $L_1[0, 1]$, the set $\overline{\text{ran}}(F + \lambda J)$ is *not convex*.

In this paper, we unify these results by providing an abstract result that allows us to deduce that no matter how $\lambda > 0$ is chosen, neither $\overline{\text{ran}}(F + \lambda J)$ nor $\overline{\text{ran}}(G + \lambda J)$ is convex. This provides a negative answer to Simons's [7, Problem 3.6].

Let us note here that neither F nor G is a subdifferential operator of a convex function; indeed, if $f: X \rightarrow]-\infty, +\infty]$ is convex, lower semicontinuous, and proper, then $f + \lambda \frac{1}{2} \|\cdot\|^2$ is supercoercive¹ and hence $\overline{\text{ran}} \partial(f + \lambda \frac{1}{2} \|\cdot\|^2) = \overline{\text{ran}}(\partial f + \lambda J) = X^*$ by Gossez's [4, Corollaire 8.2].

The remainder of this note is organized as follows. In Section 2 we collect some auxiliary results for later use. Section 3 contains our main abstract results. Section 4 discusses the Gossez operator while Section 5 deals with the Fitzpatrick-Phelps operator.

2 Auxiliary results

In this section, we cover some technical results that will ease the proofs in subsequent sections.

Rugged Banach spaces

Definition 2.1. (See also [1].) We say that X is rugged if

$$\overline{\text{span}} \text{ran}(J - J) = X^*. \quad (3)$$

Example 2.2. (See [2, Remark 5.6] and also [1, Section 2.3.4].) The following Banach spaces are rugged:

- (i) ℓ_1 and (ii) $L_1[0, 1]$.

Proof. First, we define $(\forall \xi \in \mathbb{R}) \text{Sign}(\xi) = \{\text{sign}(\xi)\}$, if $\xi \neq 0$; and $\text{Sign}(\xi) = [-1, 1] = \partial|\cdot|(0)$, otherwise.

- (i): Let $x = (x_n)_{n \in \mathbb{N}} \in \ell_1$, where $\mathbb{N} = \{1, 2, \dots\}$. We start by proving the following claim:

$$(\forall n \in \mathbb{N}) \quad (Jx)_n = \|x\|_1 \text{Sign}(x_n). \quad (4)$$

¹Recall that $g: X \rightarrow]-\infty, +\infty]$ is supercoercive if $\lim_{\|x\| \rightarrow +\infty} g(x)/\|x\| = +\infty$.

Indeed, let $y = (y_n)_{n \in \mathbb{N}} \in \ell_\infty$. If $(\forall n \in \mathbb{N}) y_n \in \|x\|_1 \text{Sign}(x_n)$, then $\|x\|_1^2 = \|y\|_\infty^2 = \langle x, y \rangle$ and hence $y \in Jx$. Conversely, suppose that $y \in Jx$. Then

$$(\forall n \in \mathbb{N}) \quad |y_n| \leq \|y\|_\infty = \|x\|_1 \quad (5)$$

and

$$\|x\|_1^2 = \|y\|_\infty^2 = \|x\|_1 \|y\|_\infty = \langle x, y \rangle = \sum_{n \in \mathbb{N}} x_n y_n \quad (6a)$$

$$\leq \sum_{n \in \mathbb{N}} |x_n| |y_n| \leq \sum_{n \in \mathbb{N}} |x_n| \|y\|_\infty = \|x\|_1 \|y\|_\infty. \quad (6b)$$

Hence $\sum_{n \in \mathbb{N}} |x_n| (\|y\|_\infty - |y_n|) = 0$; equivalently, $(\forall n \in \mathbb{N}) |x_n| (\|y\|_\infty - |y_n|) = 0$. Now, if $x_n = 0$ then (5) implies that $y_n \in \|x\|_1 \text{Sign}(x_n)$. Alternatively, if $x_n \neq 0$ we must have $|y_n| = \|y\|_\infty$ which, in view of (6), implies that $y_n = \text{sign}(x_n) |y_n| = \text{sign}(x_n) \|y\|_\infty \in \text{Sign}(x_n) \|x\|_1$. Next, we show that ℓ_1 satisfies (3). Clearly, $\{1, 2\} \subseteq \mathbb{N}$, and we denote the corresponding canonical unit vectors in ℓ_1 by e_1 and e_2 , respectively. If $i \in \{1, 2\}$ and $n \in \mathbb{N} \setminus \{i\}$, then (4) yields $(Je_i)_i = \{1\}$ and $(Je_i)_n = [-1, 1]$; consequently, $(Je_i - Je_i)_i = \{0\}$ and $(Je_i - Je_i)_n = [-2, 2]$. Therefore, if $i \in \{1, 2\}$ and $n \in \mathbb{N} \setminus \{1, 2\}$, then $(Je_1 - Je_1 + Je_2 - Je_2)_i = [-2, 2]$ while $(Je_1 - Je_1 + Je_2 - Je_2)_n = [-4, 4]$. It follows that $(\forall n \in \mathbb{N}) [-2, 2] \subseteq (Je_1 - Je_1 + Je_2 - Je_2)_n$, which in turn implies (3).

(ii): The proof parallels that of item (i); for completeness, we provide the details. Let $x \in L_1[0, 1]$. We first claim that

$$(\forall t \in [0, 1]) \quad (Jx)(t) = \|x\|_1 \text{Sign}(x(t)) \text{ almost everywhere (a.e.).} \quad (7)$$

Indeed, let $y = L_\infty[0, 1]$. If $(\forall t \in [0, 1]) y(t) \in \|x\|_1 \text{Sign}(x(t))$ a.e., then $\|x\|_1^2 = \|y\|_\infty^2 = \langle x, y \rangle$ and hence $y \in Jx$. Conversely, suppose that $y \in Jx$. Then

$$(\forall t \in [0, 1]) \quad |y(t)| \leq \|y\|_\infty = \|x\|_1 \text{ a.e.} \quad (8)$$

and

$$\|x\|_1^2 = \|y\|_\infty^2 = \|x\|_1 \|y\|_\infty = \langle x, y \rangle = \int_0^1 x(t) y(t) dt \quad (9a)$$

$$\leq \int_0^1 |x(t)| |y(t)| dt \leq \int_0^1 |x(t)| \|y\|_\infty dt = \|x\|_1 \|y\|_\infty. \quad (9b)$$

Hence $\int_0^1 |x(t)| (\|y\|_\infty - |y(t)|) dt = 0$; equivalently, $(\forall t \in [0, 1]) |x(t)| (\|y\|_\infty - |y(t)|) = 0$ a.e. Now if $x(t) = 0$, then (8) implies that $y(t) \in \|x\|_1 \text{Sign}(x(t))$. Alternatively, if $x(t) \neq 0$, then we must have $|y(t)| = \|y\|_\infty$ which, in view of (9), implies that $y(t) = \text{sign}(x(t)) |y(t)| = \text{sign}(x(t)) \|y\|_\infty \in \text{Sign}(x(t)) \|x\|_1$ a.e. It remains to show that $L_1[0, 1]$ satisfies (3). Set $A_1 = [0, 1/3]$ and $A_2 = [2/3, 1]$ and also $e_1 = 3\chi_{A_1}$ and $e_2 = 3\chi_{A_2}$, where χ_B denotes the characteristic function of a subset B of $[0, 1]$. If $i \in \{1, 2\}$, $s \in A_i$ and $t \in [0, 1] \setminus A_i$, then $\|e_i\|_1 = 1$ and (7) yields $(Je_i)(s) = \{1\}$ and $(Je_i)(t) = [-1, 1]$; consequently, $(Je_i - Je_i)(s) = \{0\}$ and $(Je_i - Je_i)(t) = [-2, 2]$. Therefore, if $s \in A := A_1 \cup A_2$ and $t \in [0, 1] \setminus A$, then $(Je_1 - Je_1 + Je_2 - Je_2)(s) = [-2, 2]$ while $(Je_1 - Je_1 + Je_2 - Je_2)(t) = [-4, 4]$. It follows that $(\forall t \in [0, 1]) [-2, 2] \subseteq (Je_1 - Je_1 + Je_2 - Je_2)(t)$ a.e., which in turn implies (3). \blacksquare

Proposition 2.3. *Let X be rugged, let $A: X \rightarrow X^*$ be a linear operator, and let $\lambda > 0$. Then $\overline{\text{conv ran}}(A + \lambda J) = X^*$.*

Proof. We prove this by contradiction and thus assume that there exists $x^* \in X^* \setminus (\overline{\text{conv ran}}(A + \lambda J))$. The separation theorem yields $x^{**} \in X^{**} \setminus \{0\}$ such that $\langle x^*, x^{**} \rangle > \sup \langle \overline{\text{conv ran}}(A + \lambda J), x^{**} \rangle \geq \sup \langle \text{ran}(A + \lambda J), x^{**} \rangle$. Because $\text{ran}(A + \lambda J)$ is a balanced cone (i.e., closed under scalar multiplication), we deduce that $(\forall x \in X) \langle Ax + \lambda Jx, x^{**} \rangle = 0$. Because A is single-valued and $\lambda \neq 0$, it follows that $(\forall x \in X) \langle Jx - Jx, x^{**} \rangle = 0$. Therefore, $\langle X^*, x^{**} \rangle = \langle \overline{\text{span}} \text{ran}(J - J), x^{**} \rangle = 0$ and thus $x^{**} = 0$ which is absurd. ■

Corollary 2.4. *Let X be rugged, let $A: X \rightarrow X^*$ be a linear operator, and let $\lambda > 0$. Then the following are equivalent:*

- (i) $\overline{\text{ran}}(A + \lambda J) = X^*$;
- (ii) $\overline{\text{ran}}(A + \lambda J)$ is a subspace;
- (iii) $\overline{\text{ran}}(A + \lambda J)$ is a convex set.

Proof. (See also [1, Proposition 15.3.8] for “(i) ⇔ (iii)”.) The implications “(i) ⇒ (ii)” and “(ii) ⇒ (iii)” are clear. “(iii) ⇒ (i)”: Assume that $\overline{\text{ran}}(A + \lambda J)$ is convex. Then $\overline{\text{conv ran}}(A + \lambda J) = \overline{\text{ran}}(A + \lambda J)$. On the other hand, by Proposition 2.3, $\overline{\text{conv ran}}(A + \lambda J) = X^*$. Altogether, we deduce that $\overline{\text{ran}}(A + \lambda J) = X^*$. ■

3 Main result

Lemma 3.1. *Let $A: X \rightarrow X^*$ be a bounded linear monotone operator. Let $\lambda > 0$ and let $r^* \in X^*$. Suppose that $x \in X$ satisfies*

$$r^* \in Ax + \lambda Jx. \quad (10)$$

Then

$$\frac{\|r^*\|}{\|A\| + \lambda} \leq \|x\| \leq \frac{\|r^*\|}{\lambda} \quad \text{and} \quad \lambda \|x\|^2 \leq \langle x, r^* \rangle, \quad (11)$$

and²

$$A \text{ is skew} \quad \Rightarrow \quad \lambda \|x\|^2 = \langle x, r^* \rangle. \quad (12)$$

Proof. Let $x^* \in Jx$ satisfy $r^* = Ax + \lambda x^*$. Combining (2) and the triangle inequality yields $\lambda \|x\| = \lambda \|x^*\| = \|r^* - Ax\| \geq \|r^*\| - \|Ax\| \geq \|r^*\| - \|A\| \|x\|$. Hence $(\lambda + \|A\|) \|x\| \geq \|r^*\|$ which implies the first inequality in (11). On the other hand, from (2) and the monotonicity of A , we deduce that $\lambda \|x\|^2 = \lambda \langle x, x^* \rangle \leq \langle x, \lambda x^* + Ax \rangle = \langle x, r^* \rangle \leq \|x\| \|r^*\|$, which yields the remaining inequalities in (11) as well as (12). ■

²Recall that $A: X \rightarrow X^*$ is skew if any of the following equivalent conditions holds: (i) $A^*|_X = -A$; (ii) $(\forall x \in X)(\forall y \in X) \langle x, Ay \rangle = -\langle y, Ax \rangle$; (iii) $\pm A$ are monotone; (iv) $(\forall x \in X) \langle x, Ax \rangle = 0$.

Theorem 3.2. Let $A: X \rightarrow X^*$ be a bounded linear monotone operator. Let $\lambda > 0$ and $\varepsilon \geq 0$. Suppose that $x \in X$ and $f^* \in X^*$ satisfy³

$$(Ax + \lambda Jx) \cap \text{ball}(f^*; \varepsilon) \neq \emptyset \quad (13)$$

and

$$\varepsilon \leq \frac{2\lambda \|f^*\|}{\|A\| + 3\lambda}. \quad (14)$$

Then

$$\langle x, f^* \rangle \geq \lambda \left(\frac{\|f^*\| - \varepsilon}{\|A\| + \lambda} \right)^2 - \varepsilon \left(\frac{\|f^*\| - \varepsilon}{\|A\| + \lambda} \right). \quad (15)$$

Proof. Set $\varphi = \|f^*\|$ and let $r^* \in (Ax + \lambda Jx) \cap \text{ball}(f^*; \varepsilon)$. Combining this with (11), we obtain

$$\lambda \|x\|^2 \leq \langle x, r^* \rangle = \langle x, r^* - f^* \rangle + \langle x, f^* \rangle \leq \|x\| \varepsilon + \langle x, f^* \rangle. \quad (16)$$

Next, set $\rho = \|r^*\|$, $\alpha = \|A\|$, and $\zeta = \|x\|$. Then (16) and (11) yield

$$\langle x, f^* \rangle \geq \lambda \zeta^2 - \varepsilon \zeta, \quad \text{where} \quad \frac{\rho}{\alpha + \lambda} \leq \zeta \leq \frac{\rho}{\lambda}. \quad (17)$$

Note that $\|f^*\| - \|f^* - r^*\| \leq \|r^*\| \leq \|f^*\| + \|r^* - f^*\|$ which implies

$$\varphi - \varepsilon \leq \rho \leq \varphi + \varepsilon. \quad (18)$$

Now, set $l = (\varphi - \varepsilon)/(\alpha + \lambda) \geq 0$. On the one hand, simple algebraic manipulations show that (14) is equivalent to $\varphi/(\alpha + 3\lambda) \leq l$; consequently, $2\lambda\varphi/(\alpha + 3\lambda) \leq 2\lambda l$. On the other hand, (14) states that $\varepsilon \leq 2\lambda\varphi/(\alpha + 3\lambda)$. Altogether,

$$\varepsilon \leq 2\lambda l. \quad (19)$$

Furthermore, (17) and (18) yield $\zeta \geq \rho/(\alpha + \lambda) \geq (\varphi - \varepsilon)/(\alpha + \lambda) = l$; hence,

$$l \leq \zeta. \quad (20)$$

Next, consider the function $g(\eta) = \lambda\eta^2 - \varepsilon\eta$. Let $\eta \geq l$ and observe that (19) implies that $g'(\eta) = 2\lambda\eta - \varepsilon \geq 2\lambda l - \varepsilon \geq 0$. Hence, g is increasing on $[l, +\infty[$. Combining (17) and (20), we learn that $\langle x, f^* \rangle \geq g(\zeta) \geq g(l)$. Hence $\langle x, f^* \rangle \geq g(l)$, which is precisely (15). \blacksquare

Definition 3.3 ((whs) condition). Let $A: X \rightarrow X^*$ be a bounded linear monotone operator, and let $f^* \in X^*$. We say that the (whs) condition⁴ holds if $\|A\| = 1$, $\|f^*\| = 1$, and for every $\lambda > 0$ and every $\varepsilon > 0$, the implication

$$(Ax + \lambda Jx) \cap \text{ball}(f^*; \varepsilon) \neq \emptyset \quad \Rightarrow \quad \langle x, f^* \rangle \leq 3\varepsilon \quad (21)$$

is true.

³We denote the closed ball centered at f^* of radius ε by $\text{ball}(f^*; \varepsilon)$.

⁴“whs” stands for *wondrous half-space*.

For every $\lambda > 0$, we define for future convenience

$$m(\lambda) = \frac{3\lambda^2 + 9\lambda + 4 - (\lambda + 1)\sqrt{9\lambda^2 + 36\lambda + 16}}{4\lambda + 2}. \quad (22)$$

The function m plays a role in the statement and proofs of this section. The next result will also establish the strict positivity⁵ of m .

Corollary 3.4. *Let $A: X \rightarrow X^*$ be a bounded linear monotone operator with $\|A\| = 1$, let $f^* \in X^*$ be such that $\|f^*\| = 1$, let $\lambda > 0$ and assume that there exist $x \in X$ and $\varepsilon > 0$ such that $\varepsilon \leq 2\lambda/(1 + 3\lambda)$ and $(Ax + \lambda Jx) \cap \text{ball}(f^*; \varepsilon) \neq \emptyset$. Finally, assume that the (whs) condition holds. Then*

$$(2\lambda + 1)\varepsilon^2 - (3\lambda^2 + 9\lambda + 4)\varepsilon + \lambda \leq 0; \quad (23)$$

consequently,

$$\varepsilon \geq \frac{3\lambda^2 + 9\lambda + 4 - (\lambda + 1)\sqrt{9\lambda^2 + 36\lambda + 16}}{4\lambda + 2} = m(\lambda) > 0. \quad (24)$$

Proof. The (whs) condition implies that $\langle x, f^* \rangle \leq 3\varepsilon$. On the other hand, (15) yields $\langle x, f^* \rangle \geq \lambda(1 - \varepsilon)^2/(1 + \lambda)^2 - \varepsilon(1 - \varepsilon)/(1 + \lambda)$. Altogether,

$$\lambda \frac{(1 - \varepsilon)^2}{(1 + \lambda)^2} - \varepsilon \frac{1 - \varepsilon}{1 + \lambda} \leq 3\varepsilon. \quad (25)$$

In turn, (25) is equivalent to

$$\lambda(1 - \varepsilon)^2 - \varepsilon(1 - \varepsilon)(1 + \lambda) \leq 3\varepsilon(1 + \lambda)^2 \quad (26a)$$

$$\Leftrightarrow (\lambda + \varepsilon^2\lambda - 2\lambda\varepsilon) + (-\varepsilon - \varepsilon\lambda + \varepsilon^2 + \varepsilon^2\lambda) \leq 3\varepsilon + 3\varepsilon\lambda^2 + 6\varepsilon\lambda \quad (26b)$$

$$\Leftrightarrow \varepsilon^2(1 + 2\lambda) + \varepsilon(-9\lambda - 4 - 3\lambda^2) + \lambda \leq 0, \quad (26c)$$

which is equivalent to (23). Now let's view (23) as a quadratic inequality. Then ε must lie in the closed interval given by the roots of the corresponding quadratic equation

$$(2\lambda + 1)\zeta^2 - (3\lambda^2 + 9\lambda + 4)\zeta + \lambda = 0, \quad (27)$$

where the variable is ζ . The two roots of (27) are

$$\frac{3\lambda^2 + 9\lambda + 4 \pm \sqrt{(3\lambda^2 + 9\lambda + 4)^2 - 4(1 + 2\lambda)\lambda}}{2(1 + 2\lambda)} \quad (28a)$$

$$= \frac{3\lambda^2 + 9\lambda + 4 \pm (\lambda + 1)\sqrt{9\lambda^2 + 36\lambda + 16}}{4\lambda + 2}, \quad (28b)$$

and both roots are positive. ■

⁵In passing, we note that $\lim_{\lambda \rightarrow 0^+} m(\lambda) = 0$, $\lim_{\lambda \rightarrow +\infty} m(\lambda) = 0$, m is strictly increasing on $[0, \bar{\lambda}]$ and strictly decreasing on $[\bar{\lambda}, +\infty[$, where $\bar{\lambda} = (3 + \sqrt{15})/6 \approx 1.14550$, and $m(\bar{\lambda}) = (9 - 2\sqrt{15})/(12 + 2\sqrt{15}) \approx 0.06349$. We omit the proofs as these properties are not needed in this paper.

Theorem 3.5 (key result). Let $A: X \rightarrow X^*$ be a bounded linear monotone operator with $\|A\| = 1$, let $f^* \in X^*$ be such that $\|f^*\| = 1$, and let $\lambda > 0$. Furthermore, assume the (whs) condition holds. Then either

$$d(f^*, \text{ran}(A + \lambda J)) \geq \frac{2\lambda}{1 + 3\lambda}, \quad (29)$$

or

$$\frac{2\lambda}{1 + 3\lambda} > d(f^*, \text{ran}(A + \lambda J)) \geq \frac{3\lambda^2 + 9\lambda + 4 - (\lambda + 1)\sqrt{9\lambda^2 + 36\lambda + 16}}{4\lambda + 2} > 0. \quad (30)$$

In any case,

$$d(f^*, \text{ran}(A + \lambda J)) \geq \frac{3\lambda^2 + 9\lambda + 4 - (\lambda + 1)\sqrt{9\lambda^2 + 36\lambda + 16}}{4\lambda + 2} > 0. \quad (31)$$

Proof. Assume that the “either” alternative fails, i.e., $d(f^*, \text{ran}(A + \lambda J)) < 2\lambda/(1 + 3\lambda)$. Then there exist $x_n \in X$ and $x_n^* \in Jx_n$ such that $\varepsilon_n := \|f^* - (Ax_n + \lambda x_n^*)\| \leq 2\lambda/(1 + 3\lambda)$ and $\varepsilon_n \downarrow d(f^*, \text{ran}(A + \lambda J))$. Now (24) of Corollary 3.4 yields

$$\varepsilon_n \geq \frac{3\lambda^2 + 9\lambda + 4 - (\lambda + 1)\sqrt{9\lambda^2 + 36\lambda + 16}}{4\lambda + 2} > 0. \quad (32)$$

Hence the “or” case follows by letting $n \rightarrow +\infty$. Finally, we claim that

$$\frac{2\lambda}{1 + 3\lambda} > \frac{3\lambda^2 + 9\lambda + 4 - (\lambda + 1)\sqrt{9\lambda^2 + 36\lambda + 16}}{4\lambda + 2}. \quad (33)$$

It is straightforward but a bit tedious to verify that

$$\frac{2\lambda}{1 + 3\lambda} - \frac{3\lambda^2 + 9\lambda + 4 - (\lambda + 1)\sqrt{9\lambda^2 + 36\lambda + 16}}{4\lambda + 2} = \frac{1 + \lambda}{2(1 + 2\lambda)(1 + 3\lambda)} \cdot \tau, \quad (34)$$

where

$$\tau = (3\lambda + 1)\sqrt{9\lambda^2 + 36\lambda + 16} - (9\lambda^2 + 13\lambda + 4). \quad (35)$$

It remains to show that $\tau > 0$. Indeed,

$$\tau > 0 \Leftrightarrow (3\lambda + 1)^2(9\lambda^2 + 36\lambda + 16) > (9\lambda^2 + 13\lambda + 4)^2 \quad (36a)$$

$$\Leftrightarrow (3\lambda + 1)^2(9\lambda^2 + 36\lambda + 16) - (9\lambda^2 + 13\lambda + 4)^2 = 144\lambda^3 + 128\lambda^2 + 28\lambda > 0. \quad (36b)$$

■

We are now ready for our abstract main result.

Corollary 3.6 (main result). Suppose that X is rugged, let $A: X \rightarrow X^*$ be a bounded linear monotone operator with $\|A\| = 1$, let $f^* \in X^*$ be such that $\|f^*\| = 1$, and assume that the (whs) condition holds. Let $\lambda > 0$, set $R = \overline{\text{ran}}(A + \lambda J)$, and let $\alpha \in \mathbb{R} \setminus \{0\}$. Then R is not convex, $\overline{\text{conv}} R = X^*$, and

$$d(\alpha f^*, R) \geq |\alpha|m(\lambda) > 0, \quad (37)$$

where

$$m(\lambda) = \frac{3\lambda^2 + 9\lambda + 4 - (\lambda + 1)\sqrt{9\lambda^2 + 36\lambda + 16}}{4\lambda + 2} > 0. \quad (38)$$

Proof. Because A and J are homogeneous, it follows that $\alpha R = R$. Hence $d(\alpha f^*, R) = d(\alpha f^*, \alpha R) = |\alpha|d(f^*, R) \geq |\alpha|m(\lambda)$ by Theorem 3.5. The lack of convexity of R and the fact that $\overline{\text{conv}} R = X^*$ follow from Corollary 2.4 and Proposition 2.3, respectively. ■

4 The Gossez operator revisited

In this section, we assume that

$$X = \ell_1, \tag{39}$$

and that

$$G: \ell_1 \rightarrow \ell_\infty: x = (x_n)_{n \in \mathbb{N}} \mapsto (Gx)_{n \in \mathbb{N}}, \quad \text{where } (Gx)_n = -\sum_{k < n} x_k + \sum_{k > n} x_k \tag{40}$$

is the Gossez operator [5] and [6]. It is easy to see that G is a bounded linear operator with $\|G\| = 1$ and that G is skew, hence monotone.

We are now ready for the main result concerning the Gossez operator.

Theorem 4.1. *The Gossez operator G satisfies the (whs) condition with $f^* = -(1, 1, \dots) \in \ell_\infty$; consequently, $(\forall \lambda > 0) \overline{\text{ran}}(G + \lambda J)$ is not convex yet $\overline{\text{conv}} \overline{\text{ran}}(G + \lambda J) = \ell_\infty$.*

Proof. Let $\lambda > 0$, and let $\varepsilon > 0$. Assume that $(x, r^*) \in \ell_1 \times \ell_\infty$ satisfies $r^* \in (Gx + \lambda Jx) \cap \text{ball}(f^*; \varepsilon)$. First, there exists $x^* \in Jx$ such that $r^* = Gx + \lambda x^*$. By definition of G , we have $(\forall n \in \mathbb{N}) r_n^* = -\sum_{k < n} x_k + \sum_{k > n} x_k + \lambda x_n^*$. Letting $n \rightarrow \infty$, we deduce that

$$\lim_{n \rightarrow \infty} (\lambda x_n^* - r_n^*) = \sum_{k=1}^{\infty} x_k = \langle x, -f^* \rangle =: \sigma. \tag{41}$$

Second, because $r^* \in \text{ball}(f^*; \varepsilon)$, we have $\|r^* - f^*\| \leq \varepsilon$. Thus $(\forall n \in \mathbb{N}) |r_n^* + 1| \leq \varepsilon$ and so $r_n^* \leq -1 + \varepsilon$. Altogether, for all n sufficiently large we have $\lambda x_n^* - r_n^* \leq \sigma + \varepsilon$

$$\lambda x_n^* = (\lambda x_n^* - r_n^*) + r_n^* \leq (\sigma + \varepsilon) + (-1 + \varepsilon) = \sigma + 2\varepsilon - 1. \tag{42}$$

Using (2) and (11), we estimate

$$-\lambda x_n^* \leq \lambda \|x^*\| = \lambda \|x\| \leq \|r^*\| \leq \|r^* - f^*\| + \|f^*\| \leq \varepsilon + 1. \tag{43}$$

Adding (42) and (43), we obtain $0 \leq \sigma + 3\varepsilon$. Recalling the definition of σ from (41), deduce that $\langle x, f^* \rangle \leq 3\varepsilon$ and the (whs) condition holds. The conclusion now follows by applying Example 2.2(i) and Corollary 3.6. ■

Remark 4.2 (a negative answer to a question posed by Stephen Simons). *In [7], Stephen Simons proved that $\overline{\text{ran}}(G + \lambda J)$ is not convex for $0 < \lambda < 4$. In [7, Problem 3.6] he asks whether $\overline{\text{ran}}(G + 4J)$ is convex. Theorem 4.1 not only provides a negative answer but also establishes, for every $\lambda > 0$, the nonconvexity of $\overline{\text{ran}}(G + \lambda J)$.*

Remark 4.3 (the negative Gossez operator). *The negative Gossez operator, $-G$, is much better behaved than G : indeed, combining [1, Example 14.2.2 and Theorem 15.3.7], we deduce that $(\forall \lambda > 0) \overline{\text{ran}}(-G + \lambda J) = \ell_\infty$. (See also [2, Example 5.2].)*

5 The Fitzpatrick-Phelps operator revisited

In this section, we assume that

$$X = L_1[0, 1] \quad (44)$$

and that

$$F: L_1[0, 1] \rightarrow L_\infty[0, 1]: x \mapsto Fx, \quad \text{where } (Fx)(t) = \int_0^t x(s) ds - \int_t^1 x(s) ds. \quad (45)$$

It is easy to see that F is a bounded linear operator with $\|F\| = 1$ and that F is skew, hence monotone.

We are now ready for the main result concerning the Fitzpatrick-Phelps operator.

Theorem 5.1. *The Fitzpatrick-Phelps operator F satisfies the (whs) condition with $f^* \equiv -1 \in L_\infty[0, 1]$; consequently, $(\forall \lambda > 0) \overline{\text{ran}}(F + \lambda J)$ is not convex yet $\overline{\text{conv}} \overline{\text{ran}}(F + \lambda J) = L_\infty[0, 1]$.*

Proof. Let $\lambda > 0$, and let $\varepsilon > 0$. Assume that $(x, r^*) \in L_1[0, 1] \times L_\infty[0, 1]$ satisfies

$$r^* \in (Fx + \lambda Jx) \cap \text{ball}(f^*; \varepsilon). \quad (46)$$

First, there exists $x^* \in Jx$ such that $r^* = Fx + \lambda x^*$. By definition of F , $(\forall t \in [0, 1]) r^*(t) = \int_0^t x(s) ds - \int_t^1 x(s) ds + \lambda x^*(t)$. Thus, for every $t \in [0, 1]$, we have $|r^*(t) + 1| \leq \varepsilon$ and also

$$\lambda x^*(t) = r^*(t) - \int_0^t x(s) ds + \int_t^1 x(s) ds = r^*(t) + \int_0^1 x(s) ds - 2 \int_0^t x(s) ds \quad (47a)$$

$$= r^*(t) - \langle x, f^* \rangle - 2 \int_0^t x(s) ds \leq -1 + \varepsilon - \langle x, f^* \rangle - 2 \int_0^t x(s) ds. \quad (47b)$$

In view of the (absolute) continuity of $t \mapsto \int_0^t x(s) ds$ (see, e.g., [9, Theorem 6.84]), we have for all $t > 0$ sufficiently small,

$$\lambda x^*(t) \leq -1 - \langle x, f^* \rangle + 2\varepsilon. \quad (48)$$

Now note that — using (2) and again (11) — we obtain

$$-\lambda x^*(t) \leq \lambda \|x^*\| = \lambda \|x\| \leq \|r^*\| \leq \|r^* - f^*\| + \|f^*\| \leq \varepsilon + 1. \quad (49)$$

Adding (48) and (49), we deduce that $0 \leq 3\varepsilon - \langle x, f^* \rangle$ and the (whs) condition thus holds. Finally, apply Example 2.2(ii) and Corollary 3.6. \blacksquare

Remark 5.2. *Fitzpatrick and Phelps (see [3, Example 3.2]) showed directly that $\overline{\text{ran}}(F + 1J)$ is not convex. We extend their conclusion from $\lambda = 1$ to any $\lambda > 0$. We note that a referee pointed out to us that there is a gap in the proof of the nonconvexity of $\overline{\text{ran}}(F + J)$ in the second paragraph of [3, page 64]; however, the work in this paper does not rely on their argument and thus provides an alternative (and simpler) proof.*

Remark 5.3 (the negative Fitzpatrick-Phelps operator). *The negative Fitzpatrick-Phelps operator, $-F$, satisfies the (whs) condition again with $f^* \equiv -1 \in L_\infty[0, 1]$. (The proof is similar with the only difference being that in the derivation of the counterpart of (48), we work with t sufficiently close to 1 rather than to 0.) Consequently, $(\forall \lambda > 0) \overline{\text{ran}}(-F + \lambda J)$ is not convex yet $\overline{\text{conv}} \overline{\text{ran}}(-F + \lambda J) = L_\infty[0, 1]$.*

Acknowledgements

We thank a referee for her/his pertinent comments and suggestions which resulted in significant simplifications in some of the proofs. The research of HHB and XW was partially supported by Discovery Grants of the Natural Sciences and Engineering Research Council of Canada. The research of WMM was partially supported by the Natural Sciences and Engineering Research Council of Canada Postdoctoral Fellowship.

References

- [1] H.H. Bauschke, *Projection Algorithms and Monotone Operators*, PhD thesis, Simon Fraser University, 1996. <http://summit.sfu.ca/item/7015>
- [2] H.H. Bauschke and J.M. Borwein, Maximal monotonicity of dense type, local maximal monotonicity, and monotonicity of the conjugate are all the same for continuous linear operators, *Pacific Journal of Mathematics* 189 (1999), 1–20.
- [3] S.P. Fitzpatrick and R.R. Phelps, Some properties of maximal monotone operators on non-reflexive Banach spaces, *Set-Valued Analysis* 3 (1995), 51–69.
- [4] J.-P. Gossez, Opérateurs monotones non linéaires dans les espaces de Banach non réflexifs, *Journal of Mathematical Analysis and Applications* 34 (1971), 371–395.
- [5] J.-P. Gossez, On the range of a coercive maximal monotone operator in a nonreflexive Banach space, *Proceedings of the American Mathematical Society* 35 (1972), 88–92.
- [6] J.-P. Gossez, On a convexity property of the range of a maximal monotone operator, *Proceedings of the American Mathematical Society* 55 (1976), 359–360.
- [7] S. Simons, Gossez's skew linear map and its pathological maximally monotone multifunctions, *Proceedings of the American Mathematical Society* in press, <https://arxiv.org/abs/1807.06152>, DOI: <https://doi.org/10.1090/proc/14547>.
- [8] S. Simons, *Minimax and Monotonicity*, Springer-Verlag, 1998.
- [9] K.R. Stromberg, *Introduction to Classical Real Analysis*, Wadsworth International Group, 1981.